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Instructions for the Candidates
Write your roll number in the space provided on the top of
this page.
This paper consists of fifty multiple-choice type of questions.
At the commencement of examination, the question booklet
will be given to you. In the first 5 minutes, you are requested
to open the booklet and compulsorily examine it as below :
(i) To have access to the Question Booklet, tear off the
paper seal on the edge of this cover page. Do notaccept
a booklet without sticker-seal and do not acceptan open
booklet.
Tally the number of pages and number of questions in
the booklet with the information printed on the cover
page. Faulty booklets due to pages/questions missing
or duplicate or not in serial order or any other
discrepancy should be got replaced immediately by a
correct booklet from the invigilator within the period
of 5 minutes. Afterwards, neither the Question Booklet
will be replaced nor any extra time will be given.
After this verification is over, the Test Booklet Number
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Number should be entered on this Test Booklet.
Each item has four alternative responses marked (1), (2), (3)
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Your responses to the items are to be indicated in the OMR
Sheet given inside the Booklet only. If you mark your
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disqualification.

You have to return the original OMR Sheet to the invigilators
at the end of the examination compulsorily and must not
carry it with you outside the Examination Hall. You are
however, allowed to carry original question booklet and
duplicate copy of OMR Sheet on conclusion of examination.
Use only Blue/Black Ball point pen.

Use of any calculator or log table etc., is prohibited.

There are no negative marks for incorrect answers.

In case of any discrepancy in the English and Hindi versions,
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(ii)

(iii)

=

TiterfelEi o fere frder

39 98 % W o0 WM W 71 I =R fafeu |

2. TG YA-UF H YO dgfashedtd T €

©»

e TR B W, TGkl ST T & ST | Tt Ui e
MR Y-kt Wier den 3Hah Fefafea Site & fag &3
SR, FGeh! S STTaen STa9d At ©
(i) TA-gfETeR @e & foa giee R &t wre & e H
S o | Gl g2 A1 fomn Rie-dia i gfidert WisRr 7 #i |
HeR U8 W BY FHEITTER U9a-Ufaeht & U a2 Y91 st
AT T TS AXE ok BT o (o 9 G & | Qogut gfeent
frit g/ ue W B AT gan o T & ar wiEe § 78
arerte foRelt off Wk @t Afequl gfent Wie 7 T aer
I T I A (TR S0k T U gl Hel Uo-feent of
1z fou snueRt uie fiee fod @) Sad A A
TR YY-YferehT ATqE o STaht 3 1 & 3Traeht tfafin
o fea s
(iii) 39 W9 & o TA-YF&ThT T TR OMR T W 3ifehd Hi
3R OMR W5 ol oR 30 Y¥-JRadehl R siferd T T |
Y% 9 & faT =R W fawed (1), (2), (3) a0 (4) fe& ™ ¥
3MIHT TEl IR F I Hl U7 F WAL FIeA A § S fF A=
fommn T 71
[MRO: D @ @ @ v (3) Wl W
T % ST hael U9 YRRt o 3T fedl T OMR Uah W&
3ifhd e €1 9 3T OMR 95k R 3 T8 g1 & oTarran foreht
3T WM R IN fogiferd X 8, O 351 i T8 g |
a1 fad T fAdRTT ol e U |
= %M (Rough Work) 30 &l & 31f<H g8 T |
9fg 37 OMR U9 W 7o = & STelren 3191 M, U TR,
I TR 1 e oft U Forg foad sarueht e & O, Siferd
T A AN W H WA W €, A HE A AT A B
AR W €, w9 T siferd ford 7 SR 1 faer an wihe @ |
SeerT df adien % fod e sifd ford < gahd ¥
39T TRI&T THE € W gt OMR 5 FRieTeh Heied &l elter
ST © SR T Y & a1 39 79 1o Wa wa § sl
T TR S | BTeifeh 3119 qeT A1 TR gel Je-gRqent e OMR
T HI GRS U STI T o S Heh |

(ii)

. Shael Siiel/ ShTel SISl WTSe U ol & WET Rl |
TRl ot YR 1 WIUTER ((FEgeIeT ) AT AN TEe MG

T afsa g

. T ST o 0 hIg TehTcHeh 3iah & § |
. Afg St =1 f&dt faawor & =+ fagnfa &, ot sfish faewor sifam

HHET ST

N-04717 ‘

=

P.T.O.



PHYSICAL EDUCATION
PAPER -1I

Note : This paper contains fifty (50) objective type questions of two (2) marks each. All questions
are compulsory.

1.  The philosophy of physical education is based on :
(1) Existentialism (2) Pragmatism (3) Eclectic Philosophy  (4) Realism

2. Most oxygen carried in the blood is :
(1) In solution within the plasma
2

(2) Combined with plasma protein
(3) Chemically combined with hemoglobin
(4)

4) In solution within the RBC

3.  In which position the pressure on the vertebral discs is greatest ?
(1) Stand upright (2) Seated
(3) Supine lying (4) Prone lying

4. Individual difference’s impact on the ability to learn skills is influenced by :

(1) Heredity (2) Environment

(3)  Sex of participant (4) Heredity and environment
5.  Laissez faire curriculum is :

(1) Social Needs Centred (2)  Social Values Centred

(3) Monetary Centered (4) Child Centered

6.  The Causative agent for Syphilis is :
(1) Treponema Pallidum (2) Treponema Sulphium

(3) Bacterium Ribinoporium  (4) Multiporium Derma

7. Which of the following does not constitute the characteristics of sports training ?

(1) Exploitation of human reserves

(2) Controlled daily routine
(3) Static process
(4) Educational process
aere [ [HRTITINIIN : Fapec
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8.  Which of the following is not a design of Randomized Controlled Trial ?
(1) Factorial Design
(2) Parallel Design
(8) Cross-over Design
(4) Stratified Design
9. Ponderal Index indicates the player’s position in relation to which somatotyping ?
(1) Endomorphy (2) Mesomorphy
(3)  Ectomorphy (4) None of these
10. Which of the following is against the principles of organisation ?
(1) Proper decentralization (2) Overlaping of authority
(3) Deligation of power (4) Proper communication
11. The most observable increase in physiological changes that accompanies the aging process.
(a) Maximum heart rate
(b) Resting pulse rate
(c) Maximum cardiac output
(d) Resting systolic blood pressure
(e) Peripheral resistance
Code :
(1) (a) (9 and (d)
(2) () (d) and (¢
(3) (o) (@) and (a)
(4) (d), @ and (b)
12. At high altitude performance in running events beyond one minute, affects significantly due
to:
(a) Decrease in total barometric pressure
(b) Decrease in partial pressure of oxygen
(c) Decrease frictional resistance
(d) Decrease environmental temperature
(e) Decrease oxygen availability to muscle
Find the correct code :
(1) (@) (b) (e (2) (), (0) () (3) (), (d), () 4) @) (o) (d)
aer [ TTHIITAN ‘ Fapert
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13. The joints which permit circumduction movements.
(a) Intervertebral of Head
(b) Metacarpophalangeal of Thumb
(c) Intertarsal of Foot
(d) Metatarsophalangeal of Toes
(e) Sternoclavicular of Arm and Shoulder
Code :
(1) () and (b) (2) (b)and (d)
(3) (0)and (o (4) (a) and (d)
14. Effective team climate is developed through :
(a) Social Support (b) Distinctiveness
(c)  Proximity (d) Fairness (e) Individual excellence
Code :
(1) (a), (b), (d), (e) (2) (@), (b), (), ()
®) (@), (b), (c), (d) 4)  (9) (), (e) (a)
15. Technology in education can :
(a) Enhance Communication
(b) Reduce activity time
(c) Transform a poor teacher into a good one
(d) Provide strategies to students
(e) Help in understanding the social background of the students
(f)  Enhance teacher student interaction
Code :
1 (a), (b), 6 2 (@), (b), ()
@) () (o) (d) 4) (), (), (6
16. The following are fat soluble Vitamins :
(a) Vitamin A (b) Vitamin B (c) Vitamin C
(d) Vitamin D (e) Vitamin E (f) Vitamin K
Code :
1) (@), (b), (d) 2 (b), (d), (e) ()
3)  (®), (9) (o) (B @) (@, (d), (e) ()
o [ |[INEALIIN :
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Paper-II

17. Find the correct combination of quantum of External load using the code given below :
(a) Volume of load
(b) Type of training means
(c) Quality of exercise
(d) Intensity of load
(e)  Frequency of load
Code
(1) (@) (b) () (d), (e) 2) (@) (b) (0 (d)
() @ © @ @ @) O), © (@), @
18. Criteria for a standard test involves :
(a) Validity (b)  Variability
(c) Norms (d) Objectivity (e)
Code :
1) @) (9 (@) (e)
2 @, 0) © @
3) (@ © @
@ @ @
19. Validity of test is established by which methods ?
(a) Judges Rating
(b) Tournament Standing
(c) Established Tests
(d) Comparison of Known levels of Ability
() Composite Scores
(f)  Parallel Forms
Code
1) (@, (b) (c)(d) (¢
2) (@) (b) (¢
(3) (@), (b), (9 (e)
) (@), (), () () ©
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20.

21.

22.

23.

Sociological foundation of physical education discusses :
(a) Body type

(b) Motor learning

(c) Competition and cooperation

(d) Socialization process

Code :
(1) (a) and (d) (2) (b)and (d)
() (a) and () (4) (o) and (d)

What is the correct sequence of events for 2"d day of men decathlon event ?

(a) Discus throw (b) Pole Vault

(c) 110 m Hurdles (d) 1500 m (e) Javelin throw
Code :

D) © () (a) (®) (d) 2 (© (@) (®) (), (d)

©B)  (© (e) (b), () (d) @) (© (®) (e) (@) (d)

Find the correct sequence of pulmonary circulation from the code given below :

(a) Left Auricle (b) Lungs () Right Auricle
(d) Pulmonary Artery (e) Venacava (f) Right Ventricle
(g) Pulmonary Vein

Code :

1) (&) (©), (), (8) (b), (d) (a) ) (9 () () (&) (d), (), (b)
) () (©), (6, (d), (), () (a) @) (© (), (B, (8) (d), (), (b)

Sequencially arrange the muscles according to its location from bottom to top.

(a) Iliacus (b) Adductor Magnus

(c) Peroneus brevis (d) Psoas major (e) Pectineus
Code :

1) (@) (9 (@) (b) (e)

2)  (©) (b), (o) (@), (d)

(3) (@) @, (@) () (b)

@) (@) (), (©), (e) (b)
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24. Arrange general performance characteristics of skill learning in sequential order :
(a) Consistency (b) Persistance
(c) Adaptability (d) Improvement
Code :
1) (d), @), (b), ()
2 (@, (k) (d), (9
(3)  (b), (d), @), (9)
4 (© (d), (b), (@)
25. Herbart developed five formal steps for a knowledge lesson plan. Find the correct sequence
of steps from the code given below :
(a) Association and Comparison
(b) Generalisation
(c) Presentation
(d) Preparation
(e) Application
Code :
1) (d), (©) (@), (b), ()
) @, (d) (0) (e) (b)
(3) (k) (@), (d), () (e)
@) (@) @), (©), (b), (e)
26. Find the correct sequence from the code given below : (Prevention and control of communicable
diseases)
(a) Disinfection (b) Treatment
() Notification (d) Isolation () Immunization
Code :
M) (@ ®) @ ©), @ @ (@, (@), (b), ©, @
3 (© (@), @) O) @ @ (© (@), 0) @) @
27. Sequentially arrange the steps of technique training and find the correct options from the
code given below :
(a) Finding way of and means of Motor learning process
(b) Determining the best motor procedure
(c) Exploring the way of and means of implementing technique training
(d) Study of motor co-ordination
Code :
1) @ O © @ @ (®), @, @), ©
3) (@ (b) (d), (© 4) (), () (d) @
aere TRV 2 Fapec
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28. Find the correct sequence for steps of content analysis :
(a) Testing of Catagories
(b) Preparing of Report
(c) Collection of data
(d) Analytic description of subjects
(e)  Selection of Units of Study
(f) Catagories Marking
(g) Formulation of table
(h) Scheme of the form of study
Code :
1) (@), 6, @), (c) (g) (h), (), (b)
() (© (e) (&) (h), (£), (@), (d), (b)
) (), (&), () (©), (@) (&) (), (b)
@ () (), ©) @), (&) (H),(d), (b)
29.
(a) 60 Yards Dash (b) Standing Broad Jump
(d) Softball Throw (e) Zig Zag Run
Code :
1) (®), (©) (d), (), (e) (@)
2)  (b) (), (d) () () ()
©3) (), (d) () (©) (6, @)
@) (b) (), (&), (), (c) (a)
30. General Lesson Plan consists of the following :
Find the correct sequence from the code given below :
(a) Formal part
(b) Introduction
(c) Assembly and Roll Call
(d) Recreation
() Assembly and Dismissal
Code :
1) (@), (), (c), (d) and (a)
(2) (@) (¢), (d), (e) and (b)
(3) (), (O), @), (@ and (o
4 (), (a), (d) () and ()
s (TR 1

In Barrow Motor Ability Test items, Find the correct sequence from the code given below :

Medicine Ball Put
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31.

32.

33.

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R) :

Assertion (A) : Physical Education is an allied science, basically concerned with man in
motion.

Reason (R) : Anatomy, Physiology, anthropology, bio-chemistry, bio-physics,
bio-mechanics etc. contribute a lot to the understanding of man and his
movement from the point of view of physical activity programme.

In the context of the above statements, which one of the following is true ?
Code :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A) is true, but (R) is false.

(4) (A) is false, but (R) is true.

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R) :

Assertion (A) : During Strenuous exercises blood supply to some organs is restricted by
vasoconstriction and to some organs blood flow increases significantly due
to vasodilation.

Reason (R) : Blood flow is directly proportional to the pressure gradiant between two
points and inversely proportional to the ‘Resistance to flow’.

In the context of the above statements, which one of the following is true ?
Code :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A) is true, but (R) is false.

(4) (A) is false, but (R) is true.

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R) :

Assertion (A) : The pull of the psoas muscle increases shear force on the vertebrae.
Reason (R) : In the lumbar vertebrae, shear force decreases with increased swayback.
In the context of the above statements, which one of the following is true ?

Code :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(3) (A) is true, but (R) is false.

(4) (A) is false, but (R) is true.
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IRk fohen SRishH &t gite | AT SR 3Ueh! TIfd ! THeM § STy AMeH
HIAT 7 |

IR FoAl & ded § frAfafed § 4 FH-w W@ 82

<< :

(1)

(2)

(3)

(4)

T & e feu e §, w iR (A) 3R TER i ek (R) el T R

ARTRLT (A) : S AW & SRE F9 31771 | T ht (R G & HRU A 2 A € 31K
FD 3 B T 1 Y8 TR TER & HROT STARF 576 ST § |

T (R) : T %1 YAT8 o fagetl o o= § Sare 1AM o FHIUIae ol § iR ‘¥ET
HfeRer’ & Selel FHaTa Bl B |

ST Al & Hed # ffafas § 9 sA-arwE g 2

<<

(1) (A) W& (R) S T& € 3R (R), (A) T T&l =R T

2) (A) T (R) SHl T €, A (R), (A) Ft T A= T )

3) (A) W& ¥, &feh (R) ToTd T

(4) (A) T €, AR (R) WL R

= < e fou U €, w1 fiaeRe T (A) 3R IR @I deh (R) e TR
AR (A) :  TITH HiG-UT I WivH § g R o 56 Sl |

q&h (R) : e Ug H 31 WD o & WY 971 i BT § |
IR FHUAT ok e # f=fafea § 9 sH-wm w&r g ?
W‘:

(1) (A) W& (R) IH &t € 3R (R), (A) FF T& == ¥ |

2) (A) T (R) SHl T €, A (R), (A) Ft T A= T )
(3) (A) W& g, Al (R) T B

(4)  (A) 7T &, wfeR (R) W R

sz (NI G



34.

35.

36.

N-04717 ‘m““"“"H‘

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R) :

Assertion (A) : Participation-centered source of motivation in sport is to examine the
personal dispositions which are closely related to high motivational state.

Reason (R) : Individuals with high ability for motivation will not exhibit this motivational
ability unless the situation or environment is condusive for it.

In the context of the above statements, which one of the following is true ?
Code :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A) is true, but (R) is false.

(4) (A) is false, but (R) is true.

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R) :

Assertion (A) : The objectives of the physical education had changed over the course of
history.

Reason (R) : The changing concept is the result of research conducted in various
universities over the last few years.

In the context of the above statements, which one of the following is true ?
Code :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A) is true, but (R) is false.

(4) (A) is false, but (R) is true.

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R) :

Assertion (A) : The Spectral concept of health emphasizes, that the health of an individual
is not static

Reason (R) : It implies that health is a state not to be attained once and for all, but ever to
be renewed.

In the context of the above statements, which one of the following is true ?
Code :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A) is true, but (R ) is false.
4)

4 ) is false, but (R) is true.
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34. = T FeA few T ¥, wk tfeRe (A) § SR THY 9k (R) T

35.

36.

AR (A) :  TA-Fg § TewIiTar higd IR0 & wia safaaa @i # sie & fag §
TR S AU 37ere § Hey B

@ (R) : SR < foT, 3=1 It ol SAfo 39 STTYUROTH FRedl ohl ad Tk IR
T2 1 59 e fob afRfeerfa = smarerr sqek fau stea 7 21

S e el §, Frefafad § € Feow a2
<<

(1)
2)
(3)
(4)

(A) 3T (R) S T& § 1R (R), (A) T T =0 2
(A) it (R) 3 W& &, T (R), (A) 1 T =en T 2
(A) & T, fohg (R) o 1
(A) TTerd ®, fohd (R) ©@T 2|

T S e feu U ¥, U 1 PRI (A) § SR TEU @k (R) ¥ |
AMUHLT (A) :  TRINH frean < 322 3™ o qR # aRafia gu e

e (R) : forma o ot o fafve fovafaemedl # feg T oy o JRommesy saaren |
qiRed gaTl |

ST FwAl & Hed ¥, frefafad # @ s W@ 72

<< :

1)
(2)
(3)
(4)

T < e fou U €, ww o afieRem (A) 3R TER @I deh (R) e TR
ARTRT (A) : TR it TFZH TR oA it § T Ao o1 wameen feer = 21

& (R) : THeR 31ef ¥ Toh Tareen s sraen § o wea o e wra & foran s eifug wea
TR AT BT T |

SR FHUA & ded §, frfafed § 9 wH-w 98t 82

<

(1) (A) W& (R) SHf T& € 3R (R), (A) T Tl =R S

2) (A) T (R) SHi T €, A (R), (A) Ft T e T )
(3) (A) W& T, Afh (R) Tord B |

(4) (A) 7T €, WfeR (R) Wl €|

sz (NI 1



37.

38.

39.

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R) :

Assertion (A) : By defining a problem, a researcher put a fence around it, to separate it by
carefull destinations from like questions found in related situations of need.

Reason (R) : A research problem is a specific question proposed for solution.
In the context of the above statements, which one of the following is true ?
Code :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(3) (A) is true, but (R) is false.

(4) (A) is false, but (R) is true.

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R) :

Assertion (A) : Sports scientists have explored that genetic factorts play a major role in the
attainment of olympic medals by top level athletes.

Reason (R) : Sports talent ultimately determines the maximum limit to which the sports
performance can be improved through training.

In the context of the above statements, which one of the following is true ?
Code :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A) is true, but (R) is false.

(4) (A) is false, but (R) is true.

From the following choose the correct statements :

Statement - I The Standard error of mean decreases in direct portortion to sample
size.

Statement - IT  : The Standard error of mean is the standard deviation of the sampling
distribution.

Statement - III : A Statistic is a characteristic of a population.

Code :

(1) Only I and II are true
(2) Only I and III are true
(3) I II and III are true
(4) Only Il is true

arry [N 2



37. = HUA U T E, T HI AURAT (A) 3R TH HI ek (R) FHe T T

38.

39.

AURT (A) :  HI off wieneff wwen w1 aRyrfig # 38 3E-fd 97 <ferar © aifer S9!
STERTehdl ¥ Hafyq feafaei # 91e 70 ¥6E 991 1 SEges Tl 9 ST
TR ST weh |

& (R) : I R S % fou yEafad e fafire g9e g

ST HeFl & Hed H, fefafad # ¥ sF- wd 82

<< :

1

2

3

4

T (R) SF1 EE € 3 (R), (A) B HE =0 B
(R) 391 T&l &, AR (R), (A) 1 T& = T8 7

(1)
(2)
(3) a%‘r%,ﬁw( w%ﬂ
(4)

= < e fou U €, ww o fiaeRem (A) 3R gER @I deh (R) e TR

AMURIT (A) : T AAMHI 3 TH 1 ht WIS i § o ATERF FRew Faisr Wi wgedtel
SN ST TSt 1 T H Tk T@ Yfiert fum 2|

& (R) : Ta gfaw siqa: 39 S w1 fuifa s g e gfvaw & SRe g« e
FE-YSIF (WRHT) H IR A1 ST Gehal |

SR FHUA & ded ¥, Frfafed § 9 wH-91 Td@ €2

e

(1) (A) W (R) I &t € 3R (R), (A) T & =& 7 |

2) (A)TE (R) IF T €, AR (R), (A) T T =0 T T

3) (A) W& ¥, |feh (R) TeTd T

(4) (A) e g, iR (R) WEl T

feferfiea ® & @&t sl =l gy

HIYA-1:  HEHH F OFF I § T F STHR & YoIeT 3T § R o1t €1
HYA-11 : AT 1 A Ffe A I97 1 A foraer Bl ¢ |

HYUA-TI1 : FE ot WifeTer TTHEA T &I eIl § |

< :

(1) Fad IR T €

(2) I I IR I 9 &

3) I, 13RI ad ¥

(4) Fod 1T &

sz (NI 2



40. Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R) :
Assertion (A) : In Sports a number of skills and abilities are involved, which lead to
successful performance.
Reason (R) : Skill tests can not measure actual abilities of the concerned game.
In the context of the above statements, which one of the following is true ?
Code :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A) is true, but (R) is false.
(4) (A) is false, but (R) is true.
41. Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R) :
Assertion (A) : Controlling is one of the managerial functions like planning, organising,
staffing and directing.
Reason (R) : It is an important function because it helps to check errors and deviations
to achieve required goals.
In the context of the above statements, which one of the following is true ?
Code :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A) is true, but (R) is false.
(4) (A) is false, but (R) is true.
42. Match List-I with List-II and select the correct option from the code given below :
List-1 List-1I
(a) 2018 Summer Youth Olympic (i) Lausanne
(b) 2020 Winter Youth Olympic (i) Tokyo
(c) 2020 Summer Olympics (iii) Buenos Aires
(d) 2020 Winter Olympics (iv) Bejing
Code :
@ ) © @
O 6 @) @ @)
@ @ O @ @)
@) (v G @
@) @ ) @ @
arry [N 2 Faper



40. 9§ wuE feu e ¥ ww afireRer (A) § IR g 9k (R) B

ARTRIT (A) :  Tedl | T SHivred 3R Argand et € S Tohet Yeei= ol |1 Y9 it ¢ |

& (R) : el eI Heifed Tt i ardfosh Araarst sl el 7 Fehd |
ST SFl FwUEl & deo H, frefafed § 4 SF-a1 we wEr § 2
<<
1) (A) 3ﬁ'{(R aﬁ-rﬁﬂfr%aﬂ?(m (A)aﬁﬂ'ﬁa}T@T%\'l
2) (A) 3R (R) M W €, R (R), (A) Ft TE =& 76 T
(3) (A)FI%FT% 4 (R) ﬂ%ﬁﬁ%n
(4) (A) 7o ¥, fohg (R) 9 B
41. = < FeE fou e €, T I SRS (A) 3R T HT deh (R) el TR |
ARTRIT (A) :  TSIEh T HET SIY AT ST, WISd LT, FHAR o=t IR o9 33 & u &
s o ®1
q& (R) : STUfeTd e T i H 9% Tk Heedqul il § Tk 98 qfedl iR fader 1 I
L TR AL I Bl T |
ST el % e H, frefafed § § $H-91 woF W& ©2
<
(1) (A)TE (R) I ¥&I € 3R (R), (A) i T =T 7 |
2) (A)TE (R) IFT T €, AfFA (R), (A) T & =0 T T
3) (A) ¥R B, &f (R) T
(4) (A) 7T B, AfRA (R) T8
42. Ge-1 1 Gei-11 ¥ gafera Hifee ik 9 fou ¢ e & 9 w2 faswew g
g1 qer-11
(a) 2018 TTHeATCAN Jeoll AT Ueh () TESH
(b) 2020 AR a1 Acideh (i) <R
(c) 2020 TR e fueh (ili) SITH TEH
(d) 2020 SfiderTeil SAeifush (iv) SifST
<<
@ (®) (o (d
1 @ @) @) (@v)
2 @) @ G (@v)
(3) (iV) (1if) (i) (i)
(4) (@) (v) (i)
voun [[[[H]] ||||\||||\|\|||H||||H|\|II\ 2




43.
List-I
(a) Vitamin E
(b) Glycogen
(c) Fatty Acid
(d) Coenzyme NAD
Code :
@ (®) (©
V) (W 0 W)
@ ) @ 0
(B) Gv) () (@)
@) G @)
44.
List-I
(a) Axial Force
(b) Tensile Stress
(c) Shear Stress
(d) Compressional
Stress
Code :
@ (®) (©
O O @ ()
@ @) () @)
@) G @)
@ @ O
45.
List-I
(a) Tension
(b) Anger
(c) Frustration
(d) Stress
Code :
@@ (b) ()
1) @@ @) (1)
(2) @) (@) @
G ) @ @
4 @ @) (i)
oo [N

Match List-I with List-II and select the correct option from the code given below :

List-II
(i)  Aerobic Glycolysis
(i) Anaerobic Glycolysis
(iii) Ergogenic Aid
(iv) Endurance

Match List-I with List-II and select the correct option from the code given below :

)

1

(
(
(ii)
(

[

~"

iv)

List-II

Breaking Stress

Component of Stress coplanar with a material cross section
Stress component perpendicular to a given surface

Tension force

Match List-I with List-II and select the correct option from the code given below :

(d)
()
(i
(

1

~"

i)

(iv)

List-II

An imbalance between physical and psychological demand and
response capacity

Feeling of mental and nurvous strain

Occurs in response to a demeaning offense aganist an individual

Negativity arising from perceived resistance to the fulfillment
of demand
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43. GEI-1H ger-11 § Gafad wifve i) A= e W % ¥ 9 '@ foses g :

-1 Teit-11
(a) foerfi € (i) Tlfeos TemEHIarad
(b)  TATgehISIA (i) TRk TeERIfaieay
(c) =™ e (i) WSS TS
(d) chIE~TEH T (iv) FEITH
<<
@ () () (d)
1) @) @ @v) (i)
(2) Gv) @) (@) (i)
3 (v) () @) ()
(4) (i) (@v) (@) (i)
44, GI-1H GeE-11 § GAfad wifee iR A= e 0 % ¥ 9 9@ foskes T :
geit-1 -1
(a) 43 Hadt g () <o ol A wE
(b) T TAE (BH) () HeReTet hie Yo % WY TWH HIER h1 A
(c) & goE (iii) < TS AT T AGHIT IE TR
(d) WUreT SomE (FHEREA HH) (iv) T oA (SHT BIE)
<
@ () () (d)
1 @) @) () (iv)
(2) (@) (@) @) ()
3 @) (@v) (@) (i)
4 (v @O @) (i)
45. -1 Gei-11 ¥ gafea sifve oik H= fou e e § § vt faswey g
geit-1 TEit-11
(a) @ (i) Wi IR TG 9T SR YoqR &7l & s STEde
(b) HY (i) AT 3R T HeiEh ama w1 A7V
(©) e (i) et =afem o foeg = sTory o YR o a1 ©
(d) fear (iv) HI T i H STHTa TRl W Scq ThRIcHed]
b @ () () (d)
1) @) () @) ()
(2) () (v) (@) (i)
@) (v) @ () (i)
4 @ @ @) (@Qv)
o [[RNTNNAN 2 Papec




46. Match List-I with List-II and select the correct option from the code given below :

List-1 List-1I

(a) National Physical (i 1954
Efficiency Drive

(by AIU @) 1980
(Inter University board)

(c) All India Council of (i) 1957
Sports

(d) Sports authority of india  (iv) 1961
(v) 1925
(vi) 1959-60

Code

@@ () (o9 (d)
» ) v O @
2 (v (vi) (i) (i)
@) ) @) (v) (i)
@) (@v) @ (D) (i)

47. Match List-I with List-II and select the correct option from the code given below :

List-I List-II
(Caloric requirement) (kcal/day)
(a) Man-Sedentary @ 3020
(b) Woman-Sedentary (i) 2440
(c) Boys-16-17 years (i) 2320
(d) Girls-16-17 years @iv) 1900
Code

@ ®) (© (@

O O @) @ )
@ G @) @ o
@) O @) (v G
@) @ ™ 0O G
arry [N 2
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46. GEI-1H Ge-11 § GAfad wifee &R = e 0 e & 9 v foskes T :
Tqei-1 Tqe-11

(a) ea fRfSeRa TRfIT gra i) 1954
(b) TSI, (= JHard ae) (i) 1980
() ifa gfean =ifaa Af® waeH (iii) 1957
( (
(
(

[
=
~"

d) Y AR oArw gfean iv) 1961
v) 1925
vi) 1959-60

e

@@ (b) (9 (d)

1 ) (v) @ @)

2 () (v (i) (i)

G) (i) @) (@v) (i)

4 (@v) @@ @) (i)

47. GE-1H gei-11 § gafad wifve iR = e W % ¥ 9 '@ foskes g :

geit-1 Ter-11
(AR T MY ) (et wfafeT )
(a) wI=E-TfeRY (i) 3020
(b) wfegen-fHiena (i) 2440
(c) TSH-16-17 H (iii) 2320
d) wefRai-16-17 ad (iv) 1900
<

@ (b) (9 (d)
1 @ @) @ ()
(2) @) (@Gv) @) ()
(3) (1) (iif)  (iv) (11)
(4) (iv) (i)

a7 ||H||H|\||\

\||H||||H|\|||\ 2



48. Match List-I with List-II and select the correct option from the code given below :

List-I

List-1I

(a) Principle of cyclicity of training (i) Group and individualized training

(b) Principle of progression of load (ii) Load indices

(c)  Principle of regulation of

training

(d) Principle of uniformity and

differentiation
Code :

@@ (b) (o) (d)
@O @ Gv) ()
() @) @Gv) @ @)
G @) @) @O @)
@) (@v) @ @) ()

(i) Sequence of load-recovery

(iv) Linear method

49. Match List-I with List-II and select the correct option from the code given below :

List-1
a) Median

(
(b) Quartile deviation
(c) Gini co-efficient
(

d) Coefficient of

determination
Code :

@ (b)) (o) (d)
@O @) G@ W)
(2 @) @ @ )
©G) @ @) (@Gv) (i)
4) (@) @ (@v) ()

)
arry [N

List-1I

Measure of dispersion
Measure of Inequality
Measures of Central Tendency

Regression analysis
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48. -1 Ge-11 § Gafad wifee &R = e 1 e & 9 w&@ ooy T :

49.

|

geit-1 git-11
(a) <RI g A1 fag (
(b) s = fagra (
(c) uf¥reron = fafreme =1 fagid (iti) HR-GA:TIS ! shHelgal
( (

d) TwEgd qen fafysar o fagr

@@ (b) (o) (d)
O @) (v) (i)
(i) (iv) (

( iii) (i)
( o

i

~"

i
i

(

(
v) (
[At-1 ol Feit-11 & 919 gafad e o == fau 7 52 3 9 9 faswes =i g

g1 Tqeit-11

a) HEHH i) oo w1 AT
b) =g faed i) STHHE T AT
iil) = Y A
iv) ofaa faeetso

C) ﬁFﬁW

d) Hehed 1 UTih

a)
i)

( 9 (d)
(

(iii) (i

?

(

ii)  (iv)
i) (iv)
iv) (i)
iv) (i)

i)

4) (i) ()
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Match List-I with List-II and select the correct option from the code given below :

(a) Indiana Motor Fitness Index I

(b) Indiana Motor Fitness Index II
() Indiana Motor Fitness Index III
(d) Indiana Motor Fitness Index IV

50.
List-1
Code :
(a)
1) (@)
2 ()
@) ()
(4) (i)

arry [N

List-1I

(i)  (Straddle chins +Push ups) X (Standing Broad

Jump)

(i) (Straddle chins+ Push ups) X (Vertical Jump)
(iii) (Chins +Push ups) X (Standing Broad Jump)
(iv)  (Chins + Push ups) X (Vertical Jump)

-00o0-
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50. G-I gei-11 § gafad wifee oIk 9= fou T e § & 9@ foskes &1 g
g1 -1

(a) Sf<am THE &A1 geEin-1 () (Wea fag + Qo em) x (Lfen are 5w7)
(b)  3feam THE &l YeRieh-11 (i) (¥ea o + I 3Tq®) x (aféwa )
( (i
( (i

i) (o + 99 31q®) x (&L ore -7)

¢) f<am T S&rar geRiR- 111 i

d) sf<am THE qEdr YSRish-1V

iv) (fo + 901 3Tq®@) x (afémar s9)

<

@ () (9 (d
1 @) @ @ ()
2 (v) (@) @ ()
®) (@v) @) @ @
4) (@) @v) @) @

-00o0-

sz (NI g



Space For Rough Work
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